& doubtnut

India's Number 1 Education App

MATHS

BOOKS - NAVNEET MATHS (MARATHI
ENGLISH)

THREE DIMENSIONAL SHAPES

Question Bank

1. Complete the table below by writing the

number of faces, edges and vertices each


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_87Bv2jFQ2Nm7
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o Watch Video Solution

2. How many edges does a cuboid have ?

o Watch Video Solution



https://dl.doubtnut.com/l/_87Bv2jFQ2Nm7
https://dl.doubtnut.com/l/_ZItYJa352UkD

3. How many faces does a cube have?

o Watch Video Solution

4. How many faces does a cylinder have?

o Watch Video Solution

5. How many edges does a cone have?

o Watch Video Solution



https://dl.doubtnut.com/l/_RQ6soH3QLDma
https://dl.doubtnut.com/l/_J9qC6VWuW2LD
https://dl.doubtnut.com/l/_X1OrQexZnQH9

6. How many vertices does a pentagonal

pyramid have?

o Watch Video Solution

7. Choose the correct alternative from those
given below each statement and complete the
statement:

Which of the following statements is false ?

A. Aline segment has a definite length


https://dl.doubtnut.com/l/_iqLlKgetVkOj
https://dl.doubtnut.com/l/_OojGGTitu5i5

B.Only one line can be drawn passing

through three collinear points

C.Two lines which do not intersect are

called parallel lines.

D. The point at which three lines meet is

called the point of concurrence.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OojGGTitu5i5

8. Choose the correct alternative from those
given below each statement and complete the

statement:

(=5~ (-7 =7

B. +2
C.—12

D. 412

Answer: B

‘ o Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_f8UhLZPYdAgO
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9. Choose the correct alternative from those
given below each statement and complete the
statement:

, 3
Sujata bought ZZ kg of sugar. Her mother

1
bought 1Z kg of sugar. How much more sugar

did Sujata buy than her mother ?

A11k
15 ke

B. 4 kg

C.1kg


https://dl.doubtnut.com/l/_f8UhLZPYdAgO
https://dl.doubtnut.com/l/_ozEDgpPdaKgz
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Answer: A

° Watch Video Solution

10. Choose the correct alternative from those
given below each statement and complete the

statement:

What is the difference in the place values of 2

in the number 32.725?

A.2.02


https://dl.doubtnut.com/l/_ozEDgpPdaKgz
https://dl.doubtnut.com/l/_yMgN4Qnp5OFp

B. 1.08

C.1.998

D. 1.98

Answer: D

o Watch Video Solution

11. Write answers to the following questions :
The number of four various plants in a garden

are 14, 35, 21, and 49. Decide and write the


https://dl.doubtnut.com/l/_yMgN4Qnp5OFp
https://dl.doubtnut.com/l/_6O6b66050Jd7

scale to represent this information as a bar

graph.

° Watch Video Solution

12. Write answers to the following questions :
Which of the following English alphabet has

two axes of symmetry?

S mmmmmm e e s —— =

AMHV

o Watch Video Solution



https://dl.doubtnut.com/l/_6O6b66050Jd7
https://dl.doubtnut.com/l/_M8p89oI1eSMg
https://dl.doubtnut.com/l/_ApKO9RkjeAGp

13. Write answers to the following questions :
Which three-digit number less than 110 is

completely divisible by 3 as well as 4?

o Watch Video Solution

14. Write answers to the following questions :

What is the HCF of 14 and 1267

° Watch Video Solution



https://dl.doubtnut.com/l/_ApKO9RkjeAGp
https://dl.doubtnut.com/l/_2Pl350buh7DX

15. Write answers to the following questions :

Convert 4—0 into decimal fraction.

° Watch Video Solution

16. Solve any four sub questions from the
following :

Match the following :

3 m e e e e e sy

Group A Group B
(1) — (a) Plane
[id) (b) Line segment
(1id) / 7 (e) Line
y) =—— — (d) Ray

L e e R L



https://dl.doubtnut.com/l/_2eZnGO5ISWjR
https://dl.doubtnut.com/l/_6QeKCAYVlsfX

o Watch Video Solution

17. Solve any four sub questions from the
following :
Draw

an acute angle

° Watch Video Solution

18. Solve any four sub questions from the

following :


https://dl.doubtnut.com/l/_6QeKCAYVlsfX
https://dl.doubtnut.com/l/_szQWSRI1dgRL
https://dl.doubtnut.com/l/_NAI03YguehZg

Draw

an obtuse angle.

° Watch Video Solution

19. Solve any four sub questions from the
following :

Find the HCF of 24 and 36.

° Watch Video Solution



https://dl.doubtnut.com/l/_NAI03YguehZg
https://dl.doubtnut.com/l/_0Tw6qcUuzl9Z

20. Solve any four sub questions from the

following :

Add 27179 to 95.5.

o Watch Video Solution

21. Solve any four sub questions from the
following :
Which of the following numbers is completely

divisible by 3, 4 and 97 1294410944

° Watch Video Solution



https://dl.doubtnut.com/l/_o3doIsV0iepV
https://dl.doubtnut.com/l/_hKJ86LFLGmWu

22. Solve any four sub questions from the

following :

Subt t71 61
ubtract : 72 0

o Watch Video Solution

23. Solve any three sub questions from the
following :

Take any four points such that three of them
are collinear. Draw lines passing through the

pairs of points.


https://dl.doubtnut.com/l/_hKJ86LFLGmWu
https://dl.doubtnut.com/l/_0iSEFmbpSAn9
https://dl.doubtnut.com/l/_6vZKBsVDilhj

° Watch Video Solution

24. Solve any three sub questions from the

following :

Draw the axis/axes of symmetry of the

following letters of the English alphabet:

(il (i)

o Watch Video Solution



https://dl.doubtnut.com/l/_6vZKBsVDilhj
https://dl.doubtnut.com/l/_KMVzsSLz0XYe

25. Solve any three sub questions from the
following :

Find the LCM of 20 and 15.

° Watch Video Solution

26. Solve any three sub questions from the
following :

22 litres of milk is distributed equally among 5
families. How many litres of milk does each

family get ?


https://dl.doubtnut.com/l/_KMVzsSLz0XYe
https://dl.doubtnut.com/l/_YKrG6msC53sF
https://dl.doubtnut.com/l/_yKcZqATuf4rk

° Watch Video Solution

27. Solve any three sub questions from the
following :
Fill in the blanks : An angle greater than....but

less than.....is called a reflex angle.

o Watch Video Solution

28. Observe the figure and write collinear

points :


https://dl.doubtnut.com/l/_yKcZqATuf4rk
https://dl.doubtnut.com/l/_o9rgrcwJrq2M
https://dl.doubtnut.com/l/_4Jq2ON9a1YTD

° Watch Video Solution

29. Solve any four sub questions from the
following :
Draw

an acute angle

o Watch Video Solution



https://dl.doubtnut.com/l/_4Jq2ON9a1YTD
https://dl.doubtnut.com/l/_Q1iKDC9n6FeD
https://dl.doubtnut.com/l/_RiK4tS5xZLNE

30. Solve any two sub questions from the
following :

Shamrao grows mangoes in - th part of his
orchard, oranges in 5 th part and banana in
the remaining part. If the area of the orchard
is 70 acres, in how many acres of orchard does

he grow banana

o Watch Video Solution

31. Solve any two sub questions from the

following :


https://dl.doubtnut.com/l/_RiK4tS5xZLNE
https://dl.doubtnut.com/l/_iyegzpJdU5cb

A car travelled 207.35 km on the first day and
200.82 km on the second day. Of this total
journey, 101.65 km were hilly terrain. What

distance did the car travel on planes ?

° Watch Video Solution

32. Put the proper sign > or < in the boxes

below: —2[] — 9

o Watch Video Solution



https://dl.doubtnut.com/l/_iyegzpJdU5cb
https://dl.doubtnut.com/l/_b5aMitKHAhKu

33. Put the proper sign > or < in the boxes

below: —4[110

o Watch Video Solution

34. Put the proper sign > or < in the boxes

below: 6 18

o Watch Video Solution



https://dl.doubtnut.com/l/_saHRb8BEfUid
https://dl.doubtnut.com/l/_hEi8AT7xz5rn

35. Put the proper sign > or < in the boxes

below: —601 — 10

° Watch Video Solution

36. Solve any two sub questions from the
following :
Marks scored by 4 students are given below.

(Marks out of 100) Draw a bar graph

Name | Amit | Ashwin Ahmed | Anurag

Marks 90 | 60 80 70

o Watch Video Solution



https://dl.doubtnut.com/l/_nQ7s1HQljsaa
https://dl.doubtnut.com/l/_3TntHq8ZAqD5

37. Solve any two sub questions from the
following :

Three lighthouses flash their light after every 5
sec, 10 sec and 15 sec. They flash together at 7 :

00 p.m. When will they next flash together ?

o Watch Video Solution

38. Solve any two sub questions from the

following :


https://dl.doubtnut.com/l/_3TntHq8ZAqD5
https://dl.doubtnut.com/l/_MZ4Zp6crzYSW
https://dl.doubtnut.com/l/_cRo4Q5wnjess

There are trees on both the sides of a straight
road. The distance between consecutive trees
is 11.2 m. If the road is 2 km 800 m long, how

many trees are there on the road ?

o View Text Solution

39. Choose the correct alternative from those
given below each statement and complete the
statement:

7 added to four times a number results in 39.


https://dl.doubtnut.com/l/_cRo4Q5wnjess
https://dl.doubtnut.com/l/_g0abpHojfVuO

Which of the following equations represents

this ?
Adr =39+ 7
B.4x + 7 = 39
C4(x+7) =39
D.4¢c — 7 = 39
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_g0abpHojfVuO

40. Choose the correct alternative from those
given below each statement and complete the
statement:
What is the ratio of 175 g of sugar to 2 kg of
sugar?

A 1:16

B.35:40

C.7:80

D. 35:80

Answer: C


https://dl.doubtnut.com/l/_3dhuslvBUOzN

° Watch Video Solution

41. Choose the correct alternative from those
given below each statement and complete the
statement:

An article bought for ¥ 200 is sold at ¥ 196.

What is the profit/loss per cent?

A. Loss 4 %

B. Profit 4 %

C.Profit 2%


https://dl.doubtnut.com/l/_3dhuslvBUOzN
https://dl.doubtnut.com/l/_ZwOg2rEiJF2V

D. Loss 2 %

Answer: D

o Watch Video Solution

42. Choose the correct alternative from those
given below each statement and complete the
statement:

The lengths of three sides of 4 triangles are

given below. Which triangle cannot be drawn?

A.a) 86cm,13.3 cm, 4.8 cm


https://dl.doubtnut.com/l/_ZwOg2rEiJF2V
https://dl.doubtnut.com/l/_mImWvzwTa768

B.b) 84 cm, 13.3 cm, 4.9 cm

C.c)86cm,49cm, 13.2 cm

D.d) 84 cm.13.2 cm, 59 cm

Answer: B

o View Text Solution

43. Write answers to the following questions :

What is 10 % of 107

o Watch Video Solution



https://dl.doubtnut.com/l/_mImWvzwTa768
https://dl.doubtnut.com/l/_L1Nmb09SnMik

44. Write answers to the following questions :
If you deposit 500 in a bank at 8 p.c.p.a., what

interest will you get at the end of the year ?

o Watch Video Solution

45. Write answers to the following questions :
ABCDEF is a hexagon. How many triangles will
you get, if you join point A to the remaining

points ?

o Watch Video Solution



https://dl.doubtnut.com/l/_kty8GmEgaBsk
https://dl.doubtnut.com/l/_fcV6eKM2qhC8

46. Write answers to the following questions :
A net to prepare a cube is given in the figure. If
the base of the cube be letter B, which letter

will not be adjacent to letter B ?

et

A|lB|lC|D

o View Text Solution



https://dl.doubtnut.com/l/_fcV6eKM2qhC8
https://dl.doubtnut.com/l/_cd0bCBPL0oVP

47. Write answers to the following questions :
In unitary method, which of the four

mathematical operations is carried out first ?

o Watch Video Solution

48. Solve any four sub questions from the
following :

Solve y— 7 = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_cd0bCBPL0oVP
https://dl.doubtnut.com/l/_kH8ke1RDlKu9
https://dl.doubtnut.com/l/_e3hsvHnpASmm

49, Solve any four sub questions from the
following :
If a bunch of 10 flowers costs ¥ 25, how much

will a bunch of 4 flowers cost?

o Watch Video Solution

50. Solve any four sub questions from the
following :

Simran scored 623 marks out of 700 in the


https://dl.doubtnut.com/l/_m3efuT2K0i1O
https://dl.doubtnut.com/l/_duhAAZoOLrQb

examination. Find the percentage of marks she

scored.

° Watch Video Solution

51. Solve any four sub questions from the

following :

An article bought for ¥ 400 is sold for ¥ 448.

What is the profit per cent?

o Watch Video Solution



https://dl.doubtnut.com/l/_duhAAZoOLrQb
https://dl.doubtnut.com/l/_7iluWVJMEdEn

52. Solve any four sub questions from the

following :

Which shape can be made from this net?

Ml -

o Watch Video Solution



https://dl.doubtnut.com/l/_dzxKSXEevK0M

53. Solve any three sub questions from the

following :

What is 4 % of 2257?

o Watch Video Solution

54. Solve any three sub questions from the
following :
8 article were purchased for ¥ 1200. What is

the profit per article . If each was sold for ¥ 155

?

| & I


https://dl.doubtnut.com/l/_Qeti2ro6UsI2
https://dl.doubtnut.com/l/_zlB5b9EZoKkZ

| ¥ Watch Video Solution |

55. Solve any three sub questions from the
following :

Which two types of account can you open in a

bank?

° Watch Video Solution

56. Solve any three sub questions from the
following :

The lengths of the sides of two triangles are


https://dl.doubtnut.com/l/_zlB5b9EZoKkZ
https://dl.doubtnut.com/l/_bu15ge2vNIIu
https://dl.doubtnut.com/l/_FwWxF7CYItW1

given. Write the type of triangle

43 cm,52.cm 4.3 cm

° Watch Video Solution

57. Solve any three sub questions from the
following :

The lengths of the sides of two triangles are
given. Write the type of triangle,

4 cm,7 cm, 6 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_FwWxF7CYItW1
https://dl.doubtnut.com/l/_cjkC5jRrLrLI
https://dl.doubtnut.com/l/_QaB9atulMMzn

58. Solve any three sub questions from the
following :
Name the pairs of opposite sides of a [l

PORS.

o Watch Video Solution

59. Look at the figure and answer :

What is the shape of the faces on the sides ?

_.-"'T"'-.__

o 0 m_


https://dl.doubtnut.com/l/_QaB9atulMMzn
https://dl.doubtnut.com/l/_i3DKe2mDZI5c



https://dl.doubtnut.com/l/_i3DKe2mDZI5c

L % Watch Video Solution )

60. Look at the figure and answer :
What is the shape of the faces at the bottom

and the top?


https://dl.doubtnut.com/l/_i3DKe2mDZI5c
https://dl.doubtnut.com/l/_REawZrRHAkhx

il IR ———

o Watch Video Solution



https://dl.doubtnut.com/l/_REawZrRHAkhx

61. Solve any two sub questions from the
following :
The cost of 70 envelopes is ¥ 595. What is the

cost of 24 such envelopes?

o Watch Video Solution

62. Solve any two sub questions from the
following :
Kisanrao borrowed ¥ 36,000 from a bank at

the rate of 6 p.cp.a., to make a pond in his


https://dl.doubtnut.com/l/_CjnKB7gVI5zr
https://dl.doubtnut.com/l/_tiTfUvGvsid3

field. What amount will he return to the bank

at the end of the year ?

° Watch Video Solution

63. Solve any two sub questions from the
following :

[] PQRS is a quadrilateral in which
msp = 80°, mZQ = 70° and mZR = mZS

Find the measures of /R and /S

° Watch Video Solution



https://dl.doubtnut.com/l/_tiTfUvGvsid3
https://dl.doubtnut.com/l/_4uUBtcqUoesV
https://dl.doubtnut.com/l/_ikerScrau4AV

64. Write the number of faces and the number

of edges of a square pyramid.

° Watch Video Solution



https://dl.doubtnut.com/l/_ikerScrau4AV

65. Solve the following equations :

19 =m — 4

o Watch Video Solution

66. Solve any two sub questions from the
following :

Solve any two of the following equations

5=t+9

o Watch Video Solution



https://dl.doubtnut.com/l/_fTvcKY8A4lgg
https://dl.doubtnut.com/l/_VK1Wwy6BKdDF
https://dl.doubtnut.com/l/_nogf5SiO8fye

67. Solve any two sub questions from the
following :
Solve any two of the following equations

Tr = 49

o Watch Video Solution

68. Solve any two sub questions from the
following :

A hostel is to be built for school going girls.
Two toilets are to be built for every 8 girls. If

72 girls will be living in the hostel, how many


https://dl.doubtnut.com/l/_nogf5SiO8fye
https://dl.doubtnut.com/l/_mX8gSzQ9ZCaK

toilets will be required if this proportion is to

be maintained ?

° Watch Video Solution

69. Solve any two sub questions from the
following :

Sohanlal bought some articles for ¥ 5000 and
sold them for ¥ 5500, Mohanlal bought an
electric mixer for ¥ 3200 and sold it for ¥ 3552.

Whose transaction was more profitable ?

° Watch Video Solution



https://dl.doubtnut.com/l/_mX8gSzQ9ZCaK
https://dl.doubtnut.com/l/_tqK8Z41GdzMz



https://dl.doubtnut.com/l/_tqK8Z41GdzMz

